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1. (a) Complete this calculation 9× 10 = ...... {U × 10}
(b) Write down the value of 10× 4

2. 2. . . . . . . . . . . . . .not written yet

3. 3. . . . . . . . . . . . . .not written yet

4. (a) Complete this calculation 10×247 = ...... {TU or HTU ×10}
(b) Write down the value of 15× 10

5. (a) Complete this calculation 10× 400 = ...... {T0 or H00 ×10}
(b) Write down the value of 50× 10 = ......

6. Use the information that 8× 3 = 24

to find the value of 8× 30

7. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 80× 2

(b) Work out 5× 90

8. (a) Complete this calculation 100× 999 = ...... {U or TU or HTU × 100 or 1000}
(b) Write down the value of 1000× 2

9. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 400× 6

(b) Work out 4× 7000

10. 10. . . . . . . . . . . . . .not written yet

11. (a) Complete this calculation 30.7× 10 = ...... {decimal with .×10}
(b) Write down the value of 10× 751.53

12. 12. . . . . . . . . . . . . .not written yet

13. (a) Complete this calculation 36.8× 100 = ...... {decimal with . ×10n add trailing 0’s}
(b) Write down the value of 1000× 400.8

14. 14. . . . . . . . . . . . . .not written yet

15. (a) Write down the value of 10× 0.00625 {decimal with . ×10n add/remove 0’s}
(b) Complete this calculation 0.2× 100 = ......

(c) Complete this calculation 0.16× 1000 = ......

16. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
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(a) Work out 40× 20

(b) Work out 20× 400

17. {Includes from layers 7, 9 and 16 where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 20× 5

(b) Work out 40× 50

(c) Work out 6× 500

(d) Work out 8000× 5

cbna To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited


